
α)	
  To	
  	
  ΚΜ	
  ενώνει	
  τα	
  μέσα	
  των	
  πλευρών	
  ΑΔ	
  και	
  ΒΓ	
  στο	
  τρίγωνο	
  ΓΔΒ,	
  οπότε:	
  KM	
  //ΑΒ	
  

και	
  ΚΜ	
  =	
  
!"
!
	
  και	
  επειδή	
  το	
  Ν	
  είναι	
  μέσο	
  του	
  ΔΒ	
  είναι	
  ΚΜ	
  //	
  ΔΝ	
  	
  και	
  ΚΜ=	
  ΔΝ.	
  

Άρα	
   το	
   τετράπλευρο	
   ΚΜΝΔ	
   έχει	
   τις	
   απέναντι	
   πλευρές	
   του	
   ΚΜ	
   και	
   ΔΝ	
   ίσες	
   και	
  

παράλληλες,	
  οπότε	
  είναι	
  παραλληλόγραμμο.	
  

β)	
  Επειδή	
  ΚΜ	
  //	
  ΔΝ	
  είναι	
  και	
  ΚΜ	
  //	
  ΑΝ.	
  

Το	
  ΜΝ	
  ενώνει	
  τα	
  μέσα	
  των	
  πλευρών	
  ΒΓ	
  και	
  ΒΔ	
  στο	
  τρίγωνο	
  ΒΓΔ	
  άρα	
  ΜΝ	
  //	
  ΓΔ.	
  Η	
  ΑΚ	
  

τέμνει	
  την	
  ΓΔ	
  (στο	
  Κ)	
  άρα	
  θα	
  τέμνει	
  και	
  την	
  παράλληλή	
  της	
  ΜΝ.	
  Συνεπώς	
  το	
  ΑΚΜΝ	
  

είναι	
  τραπέζιο.	
  

Η	
  ΑΚ	
  είναι	
  διάμεσος	
  στο	
  ορθογώνιο	
  τρίγωνο	
  ΑΓΔ	
  που	
  αντιστοιχεί	
  στην	
  υποτείνουσά	
  

του,	
  άρα	
  ΑΚ	
  =	
  
!"
!
	
  και	
   επειδή	
  Κ	
  μέσο	
   του	
  ΔΓ	
   είναι	
  ΚΔ	
  =	
  

!"
!
  	
  άρα	
  ΑΚ	
  =	
  ΚΔ.	
   	
  Όμως	
   το	
  

ΚΜΝΔ	
  είναι	
  παραλληλόγραμμο	
  άρα	
  ΚΔ	
  =	
  ΜΝ.	
  Συνεπώς	
  ΑΚ	
  =ΜΝ.	
  

Οπότε	
  το	
  τετράπλευρο	
  ΑΚΜΝ	
  είναι	
  ισοσκελές	
  τραπέζιο.	
  

γ)	
   Η	
   διάμεσος	
   του	
   τραπεζίου	
   ΑΚΜΝ	
   είναι	
   δ=
!"!!"

!
	
  .	
   Όμως	
   ΚΜΝΔ	
  

παραλληλόγραμμο	
  άρα	
  ΚΜ	
  =	
  ΔΝ	
  και	
  Ν	
  μέσο	
  ΔΒ	
  συνεπώς	
  ΔΝ	
  =	
  ΝΒ	
  οπότε	
  	
  

δ	
  =	
  
!"!!"

!
= !"!!"

!
= !"

!
	
  .	
  

	
  


